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Figure 1. Numerical solution with Galerkin’s method
when a=1, v=0.2 and 10 linear elements.
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Figure 3. Numerical solution with Galerkin’s method
when a=1, v=0.01 and 10 linear elements,
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Figure 2. Numerical solution with Galerkin’s
method when a=20, v=0.2 and 10 linear elements.
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Figure 4. Numerical solution with Galerkin’s method
when a=1, v=0.01 and 50 linear elements.
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Figure 5. Numerical solution using SU (top left), SUPG (top right) and GLS (bottom) when a=1,
v=0.01 and 10 linear elements.
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Figure 6. Numerical solution for the problem with the
new source term when a=1, v=0.01 and 10 linear elements.
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Figure 8. Numerical solution of the problem using SUPG

Figure 7. Numerical solution of the problem using SU
method with quadratic elements.

method with quadratic elements.
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Figure 9. Numerical solution of the problem using
GLS method with quadratic elements.
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